VARIABLES: ALGEBRAIC EXPRESSIONS V (E-2) Name:

EXPRESSIONS WITH PARENTHESES II

Time: Score:

169)

(0 x (=4)) + (=4y)) = (=8) + 0+ (=9y) =

170)

56z + (—7) — ((5z + (—=2)) = 2) + (=7) =

171)

94+1—-8y—(6—y)+2zx)=

172)

(10 +6y) =72+ (=9) -2+ (—4x)) =

173)

(4 —(=3) x (=6y)))+ 10y —44+0 =

174)

(0 x Ty) x y) X 9+ (60z +~ (—6)) =

175)

((6y —y) —0) =2y — (4 X (—1x)) =

176)

162 +44+9+ (—6y) + (—2z) — 0=

Mathematics: Variables - Level 6 - Expressions - Set 2 23


https://www.workulum.com

